HEY TR

=
SS S M L LL 3L 4L
|7 =, 4 TIT 86 2 PNY) 2=77 TA = TILT7—F
vs2TaA Ty CH-R Vv ard L 7% ZGS JT TIWT AT
B R AH hAa—3 MIRAI T ZRa L7 ZLS NAZTy IR IXT4A4X
Lax ZARA K TIVH <—7X NY 7= trFal—
avy HA—=F74—LZ— |LIYRIS L 7% ZRX N T—2R
ATV YIVA Ty RIL—H—
RILT TUIR Lo HRLX
N—3— TL A
FARX Fa—7 Ya—79 AHhAF4 GT-R IJRMLAL ILTTVR
_ Z Yy 8= / =k y—7 JT7LTAZ D L
—yHr —
~—F TATF
7—5
= 7Y AD2 I/ UZ7ZRo/AR TR T YR~ FTUAh
ekz O R I7—Ya AP
== i-MiEV
ekAR—2X
RYVRy IR
N-ONE TLAR AvH¥4 b 7a—F JzAF CR-V NSX
N N-WGN 74y b P LYy R Eab A
S660 7U=F TEYY ATy T3 v
N-BOX D%
Fry AL FIA CX3 Db/ = % CX5 CX8
L7 A—FR&Z— ToEZ
YL | TFLTIRRF == TTFY
25 L7
JLr77Iv
AT 7 PwRT 4 BRZ WRX
TLA AT XV
ESAVI D AZA A4
TA4TR TALAR—
LAY —
Tk A= SX4-7 AR v )F IRy—F TYTA
DPN=— JHRE— nNL—/
INART—
ARX%x  |F8v
73R
S
AR—TT
FyR b T TILT AR
oy k=
= AETR
I74—X
ZANY | L—7F
7 hL—
JxAY
2> b

L—TF v X8R




